2024448

BZUNFERISIVR ABFH—E

202403 25H (A ){EM

=Ep)

S

AR

08:00

08:30

09:00

09:30

10:00

10:30

11:00

11:30

12:00

12:30

13:00

13:30

14:00

14:30

15:00

15:30

16:00

16:30

& =

I3 RANTIL Y RELL

I3 RANTIL Y REL

FRFH

I3 RANTIL Y RELL

RILIBEAE

BNS1=7I9U—-2Fvh—X

A =PN- -

FRFH

FRF A

10

FRFH

11

12

13

BINS1=70V-FvhH—-X

RILBAE

14

BINS1=7I9V-Fvh—-X

939> RANITIV > RELL

BNS1=7IV—-2Fvh—X

15

16

17

18

19

20

I3 RANTIL Y REL

BINS1=70V-FvhH—-X

21

BNS1=7I9V-2Fvh—X

RILEAE

22

23

24

25

26

27

J392RANTIL Y REL

RILBEAE

28

939> RANITIV > RELL

RILEAE

29

BINS1=70V-FvhH—-X

30




FIIOVNERI SR ABIFH—E
20244F4H8 20244F03H25H(8){ER

EJ HEIE g; 08:00 08:30 09:00 09:30 10:00 10:30 11:00 11:30 12:00 12:30 13:00 13:30 14:00 14:30 15:00 15:30 16:00 16:30 18 *&

1 A

4 K FRFH

5 & FRF A

6 =+ I7S534ANFT4—7F

7 H ISANTA—7 ZWBHZINF C

8 R FRFH

9 w )

10 K FRFH

11 K O

12 & O

13 *+ I7534ANFT4—7

14 H I54ANFTA4—7F BEINHVINF C

15 A O

16 X O

17 K O

18 K O

19 £ O

20 * ISANF1—7

21 H I54ANFTA4—7F BEINHVINF C

22 A O

23 X O

24 K O

25 K O

26 & O

27 ISANF1—7F

28 H ISANTA—7 ZWAYINF C

29 H

30 X O




2024448

RBINERISIY K ARFH—E

202403AH258H (A ){ERK

H
g

x
fE

08:00

08:30

09:00

09:30

10:00

10:30

11:00

11:30

12:00

12:30

13:00

13:30

14:00

14:30

15:00

15:30

16:00

16:30

" &

1

FRFH

939 RIANT-TLYRU-EIR

FRI7A9—-X

939 RINT-TLYRU—RIR

B I7M9—-X

FHRF A

FRF A

10

FRFH

11

12

13

939 RIANT-ILYRU—-EIR

FI719—-X

14

Y2

h—-x

9392 RIANT-TLY RU-EIR

BRI7M9—-X

15

16

17

18

19

20

J392RIANT-ITLY RU—-ERIR

FRI7A9—-X

21

h—-x

939> RIANT-TLY RU—-ERIR

B I7M9—-X

22

23

24

25

26

27 % J39YRIANT-ILYRU—-ERIR T I7A19—-X

28 H PION—-X 939> RIANT-TLY RU—-EIR BRI7A9—-R

29 H FRI7A49—-X

30 X O




—8B/INFERISFIVR ABFHN—E

2024%4R 202446038258 (B )5k
EI HEIE gg 08:00 08:30 09:00 09:30 10:00 10:30 11:00 11:30 12:00 12:30 13:00 13:30 14:00 14:30 15:00 15:30 16:00 16:30 1= #&
1 B IU->Fyh—-X
2 N IU->Fyh—-X
3 K IU=2Fyh—-X
4 K IU->Fyh—X
5 & FHFI A

6 | & IV->Fyhn—-X
7 | H IV->Fyhn—-X
8 H FRFIA

9 X eI
10 X el
11 K O

12 £ O

13 =+ JU—->Fyh—X
14 H IU—->Fyh—X
15 A O

16 XN O

17 K O

18 K O

19 € O

20 T JU—->Fyh—X
21 B IU->Fyh—-X
22 B O

23 N O

24 K O

25 K O

26 = O

27 % IU->Fyh—-X
28 H IU->Fyh—-X
29 H J)=->FyhH—X
30 X O




